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Lesson 5

Standards of Learning: A.1, A.3

Reporting Category:  Equations and Inequalities
BIG IDEAS: Solving Equations and Inequalities, Order of Operations, Properties

Check and Review of Previous Work/Anticipatory Set with Graphing Calculators 

· Warm-Up A.1 (Solving Equations and Inequalities)

· Warm-Up A .3 (Order of Operations, Properties of real numbers, equality and inequality)

Modeling

· Algeblocks™--Refer to the Algeblocks™ Teacher Resource Book Labs 10-2, 10-4, 10-5, 10-6, 10-7, and 10-8

· Graphing Calculator – Equation Solver, Y = x + 3, and Y = 7, calc

· Mnemonic Device – PEMDAS (Please Excuse My Dear Aunt Sally)

Guided Practice/Games and Activities

· Quotable Puzzle

· Solving Equation Puzzles

· Solving Inequality Puzzles

· Solving Equation Cards

· Algebra War

· Order of Operation Puzzles

· Property Cards

Independent Practice

Independent Practice #5 (SOL A.1, A.3)

Follow-Up to Guided Practice

· Follow up guided practice based upon individual student needs

· Practice Standards of Learning Tests on Computer

· www.jlab.org
· ARDT (strand test form A or B)

· ePAT

Assessment

Standards of Learning Mini-Challenge #5
SOL Warm-Up

Graphing Calculator Active

A.1d Solving multistep linear equations

1.
What is the value of x if 3 - 4x = 18 + x?

A  
-3

B  
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D 
  3

2. 
What is the value of x if 2x + 3 = -12 - x?

A  
  -5

B  
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C  
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D  
   5

3. 
What is the value of x if -3 + 7x = x - 17?

A  
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B  
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C    
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4. 
What is the value of x if -3x - 4 = 4x + 10?

A  -14

B    -2

C  
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D     2
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A.1e Solving multistep linear equations

1. 
What is the value of x if 6x + 7 = 13x - 9?

A  
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B  
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C    
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2. 
What is the value of x if -41x - 9 = -13x - 16?

A  - 4

B  
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C    
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D    4

3. 
What is the value of x if  -3 - 12x = 12x - 3?

A  
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B    0

C    
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D    4
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Graphing Calculator Active

A.1f Solving multistep linear noncompound inequalities

1. 
What are the values of x if 7x - 6 ≤  13 + 9x ?

A  x ≥ 
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B  x ≤ 
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C  x ≤   
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D  x ≥   
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2. 
What are the values of x if 9 - 4x > 3x - 16?

A  x < 
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B  x > 
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D  x >  
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3.
What are the values of x if 2x + 4 < 10 - 8x?

A  x < 
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B  x > 
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C  x <   
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D  x >   
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4. 
What are the values of x if -2x + 6 ≥  3x - 4?

A  x ≥  -2

B  x ≤  -2

C  x ≥   2

D  x ≤   2
SOL Warm-Up
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A.1h Solving multistep linear equations and noncompound inequalities

1. Which graph shows the solution to 4 - 2x > -2 ?
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2. Which graph shows the solution to 2x - 10 ≥  4?
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SOL Warm-Up
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A.1h Solving multistep linear equations and noncompound inequalities

3. Which graph shows the solution to 4 - 2x > -2 ?
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4. Which graph shows the solution to 2x - 10 ≥ 4?


SOL Warm-Up

Graphing Calculator Active

A.1i Solving multistep linear equations and noncompound inequalities

1. 
What is the value of x if 3(x + 4) = 2(x - 1)?

A  -14

B  -13

C   13

D   14

2. 
What is the value of x if 8x - (6x - 4) = 10?

A  -14

B   3

C   7

D   14

3. 
What is the value of x if 6x - 2(3 - 5x) = 40?

A  
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B  
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C   
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[image: image33.wmf]2

23


4. 
What is the value of x if 2(-3x + 4) = 4(-2x + 6)?

A  -8

B  -1

C   1

D   8
SOL Warm-Up

Graphing Calculator Active

A.1j Solving multistep linear equations and noncompound inequalities

1. 
What is the value of x if  -3 + 2(4x - 13) = -40x + 7?

A  
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B  
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2. 
What is the value of x if  -5(6 - x) = 9(x + 2) - 16?

A  -8

B  -4

C   4

D   8

3. 
What is the value of x if  -8(x + 1) + 3(x - 2) = -3x + 2?

A  -8

B  -2

C   2

D   8

4. What is the value of x if  6(x + 5) - 3(x - 2) = 12x + 18?

A  -8

B  -2

C   2

D   8
SOL Warm-Up
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A.1k Solving multistep linear equations and noncompound inequalities

1. 
What are the values of x if -2(x + 4) > 6x - 4?

A  x < 
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B  x > 
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[image: image40.wmf]1

2

-


D  x >   
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2. 
What are the values of x if 2(4 - x) > 5x + 8?

A  x < -8

B  x < 0

C  x > 0

D  x > 8

3. 
What are the values of x if 4(2x - 3) < 4(x - 4)?

A  x < -1

B  x > -1

C  x < 1

D  x > 1

4. 
What are the values of x if 3(x + 4) - 5(x - 1) < 5?

A  x < -6

B  x > -6

C  x < 6

D  x > 6
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Graphing Calculator Active

A.3a Simplifying expressions using order of operations

1. 
Which of the following represents 112  + 18 - 33 ∙ 5 in simplified form ?

A   - 3,236

B    4

C    107

D   16,996

2.
 Which of the following represents 
[image: image42.wmf](

)

181272

--

 in simplified form ?

A   - 2

B     8

C   13

D   18

3. 
Which of the following represents 
[image: image43.wmf](
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 in simplified form ?

A   2

B   6

C   12

D   18
SOL Warm-Up
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A.3b Simplifying expressions using order of operations

1. 
Simplify:  10 + 5 · 23 
A   50

B   140

C   840

D   1100

2.  
Simplify:  
[image: image44.wmf]2

2

3

5

14

2

6

÷

ø

ö

ç

è

æ

-

-


A   0

B   18

C   204

D   306

3.
  Simplify: 
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A   4

B   10

C   18

D   40
SOL Warm-Up

Graphing Calculator Active

A.3c  Simplifying expressions

1. 
Which of the following is the simplified form of - 4x + 7x ?

A   -4

B   -3x

C    3x

D    4

2. 
Which of the following is the simplified form of 5x - 4 - 7x + 14 ?

A    -12x + 10

B    - 2x + 10

C       2x - 18

D     12x – 18

3. 
Which of the following is the simplified form of - 5 + 2n - 6 - n ?

A    -11 + n

B    -11 + 3n

C     1 - n

D     1 + n

4.
Which figure below models the simplification of - 4x - 5 + 7x + 7 using these tiles?


SOL Warm-Up

Graphing Calculator Active

A.3d Simplifying expressions

1. 
Which of the following is the simplified form of - 3 - 3m - 5 - m ?

A   -8 - 4m

B   -8 + 4m

C   -2 + 4m

D    2 - 4m

2.
Which of the following is the simplified form of 2p - 7s - 5p + 8s ?

A   -3p + 15s

B   -3p - s

C   -3p + s

D    3p - 15s

3. 
Which of the following is the simplified form of

 - 3 - 5x - 5y + 8x + 7y + 8 ?

A   -3x - 2y - 5

B    3x - 2y + 5

C    3x + 2y + 5

D   13x + 12y + 5

4. 
Which of the following is the simplified form of a + 3a - 4(9 - a) ?

A   -36

B    3a - 36

C    8a - 36

D    8a + 36

5. If a triangle has sides 3x - 2, 5 - x and 2x - 5, what is the perimeter of the triangle?

A   4x - 2

B   4x + 2

C   5x - 2

D   5x - 7
SOL Warm-Up

Graphing Calculator Active

A.3e  Simplifying expressions

1. 
Which property would justify rewriting the following expression without parentheses? 3(2x + 5y)

A   Associative property of multiplication

B   Distributive property

C   Addition property of zero

D   Commutative property of multiplication

2. 
Which property would justify the following statement? 8x + 4 = 4 + 8x

A   Associative property of addition

B   Distributive property

C   Addition property of zero

D   Commutative property of addition

3. 
Which property would justify the following statement? 

8 + (2 + 6) = (8 + 2) + 6

A   Associative property of addition

B   Distributive property

C   Addition property of zero

D   Commutative property of addition

4.
Which statement demonstrates the distributive property incorrectly?

A   3(x + y + z) = 3x + 3y + 3z

B   (a + b) c = ac + bc

C   5(2 + 3x) = 10 + 3x

D   6(3k - 4) = 18k - 24
QUOTABLE PUZZLES—Lesson 5


Equations and Inequalities








     
A.1, A.3
Directions:  Solve the following problems.  Match that answer to the correct letter of the alphabet.  Enter that letter of the alphabet on the blank corresponding to the problem number.

___   ___   ___   ___   ___   ___         ___   ___   ___   ___   ___   ___      ___   ___

  4          8        9         6         2         9                9         5        1         3         2         9           12        14 

___   ___   ___   ___      ___   ___   ___   ___      ___   ___   ___   ___   ___

  7         9         6        13           6         3        11       10           2         6         8         8       14





 A            B            C           D            E             F            G         H          I         J         K         L         M

172              6                2             63               8                -2              15          -21          -2          12        19.6        -12          26  

N            O            P           Q            R             S            T         U         V        W         X         Y         Z

20              3/7            316            9               21               0               -4          938          55         39          -72          29         -33

Simplify each expression:





Solve each equation:

1.  3 + 8 
[image: image46.wmf]¸

 2 – 5 






8.  x + 6 = -6

2.  4(11 + 7) – 9 • 8



 


9.  2x – 3 = 13

3.  7(53 + 32)







10.  -3x = 12



     

4.  53 + 63 – 52 






11.  -20x + 4 = -396


5.  -5(9 + 3) – 3 •  4 






12.  -6 + y = 20

6.  (5 – 1)3 + (11 – 2)2 + (7 – 4)3




13.    x      = 3










         7

7.  (4 + 5)7







14.    x  +  13      =  21











  2

QUOTABLE PUZZLES—Lesson 5


Equations and Inequalities









A.1, A.3

Directions:  Solve the following problems.  Match that answer to the correct letter of the alphabet.  Enter that letter of the alphabet on the blank corresponding to the problem number.

___   ___   ___   ___      ___   ___   ___   ___   ___      ___   ___   ___      ___   ___   ___   ___   ___

  7          9        3         6            7         9         5         1        2            12       11       14           3         6       10        8         5

___   ___      ___   ___   ___   ___   ___   ___





  4        11           15       10       4        14       13        1

 A            B            C           D            E             F            G         H          I         J         K         L         M

 13             <5               5             -13              8               -24             12         >-7          -19         6           >5          72            9 

N            O            P           Q            R             S            T         U         V        W         X         Y         Z

-8               -4             <-7            65              21              -6               -5          -43         -32         87            0           -28       >31

Solve each equation or inequality:



Evaluate if a = 2, b = 5, x = 4, and n = 10
1.  -3x = -24  






13.  8a + b

2.  7a + 6 = -36





14.  3b + 16a – 9n 

3.  -4 + y = -9






15.  x2 – 4n




     

4.  
[image: image47.wmf]144











5.  x + 2  >  7









6.  -3y  <  21








7.    32








8.  -3(x + 2) = 18


Simplify:








9.    17 + 9  

            2


10.  -3 – 16 









11.  9 – 13 









12.  -15 – 13 









	
	-3x=18
	
	
	x=12
	
	
	x2=100
	
	
	3+4x=19
	

	4x= -44
	
	2x+4=8
	x=2
	
	-3x+1=7
	x= -2
	
	x= -7
	8+x=1
	
	x=13

	
	7=x-2
	
	
	x=14
	
	
	4x=24
	
	
	x= -5
	

	
	x=9
	
	
	9=x+ -5
	
	
	x=6
	
	
	7x= -35
	

	x=15
	
	x/7=3
	x=21
	
	x= -3
	-3x-4=5
	
	x=1
	7-6x=1
	
	4x+6=50

	
	x=24
	
	
	x/4 –5 = 15
	
	
	-x=16
	
	
	x=3
	

	
	x/4 –1 = 5
	
	
	x=80
	
	
	x= -16
	
	
	5(x+3)=30
	

	2x+3= -17
	
	x/13 =3
	x=39
	
	x= -9
	72 +x=40
	
	x-42=32
	x=48
	
	x= -15

	
	
[image: image48.wmf]5

=

x


	
	
	x=40
	
	
	2x+14=28
	
	
	x= -1
	

	
	x=25
	
	
	x/8 +15=20
	
	
	x=7
	
	
	3(x-4)= -15
	

	x=99
	
	-5+ -3+x= -8
	x=0
	
	(8+ -2)x= -288
	x= -48
	
	-7 
[image: image49.wmf]·

3=x
	x=-21
	
	x-2= -10

	
	x= -14
	
	
	2x+4=20
	
	
	x= -13
	
	
	x=16
	


Algebra I:  Solving Equations (2-step) # 1—Lesson 5

1.  Cut the squares apart.

2.  Match equivalent sentences.

3.  You should get a new 4 X 4 square.

	
	x=30
	
	
	x= -1/2
	
	
	1=x
	
	
	x-11=4
	

	8x-3=4
	
	1/3 x = 17
	x=18
	
	x= -12
	9=x+(-5)
	
	x+4= -9
	x= -3
	
	2x+3= -7

	
	2/5 x=10
	
	
	6x-(-2)=5
	
	
	x= -2
	
	
	x=14
	

	
	x=6
	
	
	3x=12
	
	
	x= 3/4
	
	
	x=2.4
	

	x=27
	
	-3x-4=5
	-8+6x=28
	
	1/3 x = 0
	x=24
	
	x=10
	0.2x + 0.3 =0.74
	
	1.15x=23

	
	-x-2=1
	
	
	x=2.2
	
	
	x-(-2)= -5
	
	
	x=15
	

	
	x= -13
	
	
	x = 7/8
	
	
	7-6x=1
	
	
	x = ½ 
	

	x=5.5
	
	6x= -3
	x= -18
	
	x+11=13
	-3/4 x=9
	
	2/3 x=12
	x-2= -2
	
	x= -3

	
	2/5 x= 2.5
	
	
	4x+5=8
	
	
	x/4 –1 = 5
	
	
	x = 0.8
	

	
	9x= -9
	
	
	x= -5
	
	
	x=25
	
	
	x= -3
	

	x=20
	
	0.52x-0.6=15
	x=18
	
	-5x= -35
	x+5=9
	
	x= -24
	x= 0.18
	
	5x+8= -2

	
	x=7
	
	
	½ x –5 = 1
	
	
	-4x+2= -20
	
	
	-x/3 = 8
	


Algebra I:  Solving Linear Equations (2-step) #3—Lesson 5
1.  Cut the squares apart.

2.  Match equivalent sentences.

3.  You should get a new 4 X 4 square.

Solving Linear Equations—Lesson 5

The student will justify steps used in simplifying expressions and solving equations and inequalities.  Justifications will include the use of concrete objects, pictorial representations, and the properties of real numbers, equality, and inequality.

SOL A. 3

Materials:  deck of Equation cards

Groups:  3 or 4 players

Game:

The cards should be shuffled and placed face up on a flat surface.  The objective is to match the steps for solving an equation.  Students should determine the order of play.  On an individual’s turn, the student should pick the card with the equation on it and pick a card with the first step in solving the equation.  The next player would pick a card that would be the next step in solving the equation.  Continue play until the equation is solved.  After solving the equation, players pick another equation to be solved and continue.
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	Subtract 2 from both sides.

	
[image: image51.wmf]4

614

5

-=


	The solution is 25.

	Add 2 to both sides.
	Multiply both sides by 3.

	The solution is 18.
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	The solution is 33.
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	The solution is 15.
	Subtract 5 from both sides.


	The solution is 27.
	Add 6 to both sides.

	The solution is 27.
	Multiply both sides by 
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	Multiply both sides by 2.
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	Add 5 to both sides.
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	The solution is 60.
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	Multiply both sides by 
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.
	Multiply both sides by 4.


	Subtract 6 from both sides.
	Add 9 to both sides.

	Subtract 9 from both sides.
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	Multiply both sides by 
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.
	The solution is 10.

	Multiply both sides by 
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	Multiply both sides by 
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	The solution is 7.
	Subtract 11 from both sides.

	6 – 5x = -29
	Multiply both sides by 4.


	The solution is 54.
	Subtract 6 from both sides.
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	Multiply both sides by 3.

	The solution is –12.
	Subtract 9 from both sides.
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	Add 7 to both sides.

	The solution is 108.
	Divide both sides by 3.

	Multiply both sides by 
[image: image66.wmf]3
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.
	Divide both sides by –5.


	The solution is 3.
	The solution is 100.

	Subtract 10 from both sides.
	Divide both sides by 4.

	Divide both sides by 2.
	Multiply both sides by 5.

	The solution is –1.
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	Add 17 to both sides.
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	The solution is 16.
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	Add 12 to both sides.
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	Subtract 8 from both sides.
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xx
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	Divide both sides by 3.
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 EMBED Equation.DSMT4  [image: image74.wmf]
	Subtract 3 from both sides.
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	Divide both sides by 2.
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	Add 3 to both sides.


	Subtract 15 from both sides.
	Divide both sides by 4.

	Divide both sides by 12.
	Subtract 3x from both sides.

	Divide both sides by 22.
	Add 4x to both sides.

	Add 14x to both sides.
	Subtract x from both sides.

	Subtract 5x from both sides.
	Add x to both sides.

	Divide both sides by 13.
	Add 13 to both sides.


	Subtract 4x from both sides.
	Subtract 6 from both sides.

	Divide both sides by 6.
	Add 5x to both sides.
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	Add 4 to both sides.
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	Add 8 to both sides.
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	Subtract 4 from both sides.
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	Divide both sides by 5.


	
	x ( 2
	
	
	x < 10
	
	
	x > 15
	
	
	5-2x(3x-15
	

	x ( 6
	
	x < 17
	-4 < 12
	

	x ( -1
	x < -8
	
	8 > 5 - x
	-8x ( 64 
	
	x > 5

	
	-5x < -35
	
	
	x > 5
	
	
	x ( -2
	
	
	x > 5
	

	
	2x < 10
	
	
	x < 21
	
	
	x > -5
	
	
	x + 1 < -8
	

	x ( 5
	
	-4x + 2 ( -22
	1 ( x
	
	x < -3
	x < 18
	
	x ( 5
	x ( 1
	
	x<-5

	
	x ( -6
	
	
	x-3 < 12
	
	
	4x < -24
	
	
	1 – x < 1
	

	
	2/3 x < 12
	
	
	x – 4 < 6
	
	
	x ( 4
	
	
	4 – 2x ( 8
	

	2x + 3 ( 13
	
	x > 10
	-3x > 12
	
	x ( 5
	x ( 2
	
	x ( 0
	2x – 7 ( 6
	
	-x/2 +3 ( 0
 3 (

	
	5x – 8 < -2
	
	
	x < 23
	
	
	x + 4 < -9
	
	
	x < -4
	

	
	x < 15
	
	
	x ( 1
	
	
	11-2x ( 3x+16   
	
	
	x ( -1
	

	x ( -12
	
	x > 0
	x/4 – 1 > 5
	
	x < 0
	x < 0
	
	13 + 4x ( 9
	x ( -8
	
	x < 2

	
	2/5 x – 6 ( -6
	
	
	x > -3
	
	
	x ( 6
	
	
	-3/4 x ( 9
	


Algebra I:  Solving Inequalities 1—Lesson 5
Cut the squares apart.

Match equivalent sentences.

You should get a new 4 X 4 square.

	
	x ( -9
	
	
	x > -10
	
	
	4x < 400
	
	
	x ( 18
	

	3x < 12
	
	x ( 2
	x > 16
	
	8 > 5 - x
	5 ( x - 8
	
	x > 1
	x > -3
	
	4x ( -8

	
	x/-2 < 5
	
	
	x/7 ( 3
	
	
	-2x ( -6
	
	
	x ( 3
	

	
	24 < 4x
	
	
	x ( 33
	
	
	x < 7
	
	
	5.3x < 10.6
	

	x > 15
	
	x < -6
	x – 11 > 4
	
	2 > x
	-3/4 x ( 9
	
	x ( -2
	1-x < 1
	
	x > 39

	
	x +3 ( 13
	
	
	13 + 4x ( 9
	
	
	x – 2 < -3
	
	
	-x/2 + 3 ( 0
	

	
	7x > 21
	
	
	7x ( 77
	
	
	x > 6
	
	
	x > -2
	

	x < 20
	
	x - 4 > -6
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Algebra I:  Solving Inequalities 2—Lesson 5
Cut the squares apart.

Match equivalent sentences.

You should get a new 4 X 4 square.

Algebra War—Lesson 5

The student will represent verbal quantitative situations algebraically and evaluate these expressions for given replacement values of the variables.

SOL  A.2

Materials:  deck of Algebra War cards
Groups:  2 or more

Game:

Shuffle the deck of cards.  Deal all the cards out to the players.  Each player places the cards face down in a deck.  Players all turn over their top card and compare values. The player having the largest value wins that trick.  If a tie occurs, all players turn over their next card and the player with the highest value wins both sets.  The game ends when the cards have been played through once.  The winner is the one with the most cards at the end of the game.
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Algebra I:  Order of Operations 1—Lesson 5
Cut the squares apart.

Match equivalent values.

You should get a new 4 X 4 square.
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Algebra I:  Order of Operations 2—Lesson 5
Cut the squares apart.

Match equivalent values.

You should get a new 4 X 4 square.

Property Cards—Lesson 5

The student will justify steps used in justifying expressions and solving equations and inequalities.  Justifications will include the use of concrete objects, pictorial representations, and the properties of real numbers.

SOL A.3

Materials:  deck of Property cards

Groups:  groups of 4 students

Game:

The cards are shuffled and placed face down in rows and columns (like a memory game). .  The objective is to match the property to an appropriate example.  Students should determine the order of play.  On an individual’s turn, two cards are revealed.  If these cards are a match, then the individual removes that pair from the playing field and continues to play until two non-matching cards are selected.  The winner is the student with the most cards.
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Independent Practice—Lesson 5

Equations and Inequalities







 

A.1, A.3
Read and solve.
1.  What is the value of    a + b   if a = 10 and b = 15?

                                            2b


A.  5/6


B.  5/4


C.  5


D.  25

2.  Which is an example of the commutative property of addition?


A.  3 + 5m = 3 + (1 + 4)m


B.  3 + 5m = 5m + 3


C.  3 + 5m = (3 + 5)m


D.  3 + 5m = 3m + 5

3.  What property of real numbers justifies the following statements?


4x(y + 2) – 3y is equivalent to 4x(y) + 4x(2) – 3y


A.  The associative property of multiplication


B.  The commutative property of multiplication


C.  The distributive property of multiplication over addition


D.  the closure property of multiplication

4.  The statement  “If 2(3a – 4) = 12, then 6a – 8 = 12”  is justified by the


A.  Associative property of multiplication


B.  Multiplication property of equality


C.  Addition property of equality


D.  Distributive property 

5.  Using the distance formula, d = rt, what is the value of t when d = 3,520 and r = 550?


A.  6.4


B.  2,970


C.  4,070


D.  1,936,000

Independent Practice—Lesson 5 continued

6.  What is the solution to 2x – 4 < 6?


A.  x < 1


B.  x < 5


C.  x < 10


D.  x >1

7.  A rectangle has a perimeter of 60 inches and length of 22 inches.  What is the width of the rectangle?


A.  176 in.


B.  164 in.


C.  14 in.


D.  8 in.

8.  What is the solution to 3(x – 5) > 12?


A.  x  <  1


B.  x  >  -1


C.  x  >   17 


                            3


D.  x  >  9

9.  What is the solution to 6x + 4 =  -20?


A.  x = 4


B.  x = 13.3


C.  x = -2.66


D.  x = -4
10.  Mary published her first book.  She was given $10,000.00 and an additional $0.10 for each copy of the book that sold.  Her earnings, d, in dollars, from the publication of her book are given by


d = 10,000 + 0.1n
where n is the number of copies sold.  During the first year Mary earned $35,000.00 from the publication and sale of her book.  How many copies of her book sold in the first year?


A.  25,000


B.  35,000


C.  250,000


D.  350,000

Independent Practice—Lesson 5 continued
11.  Pauline sells cookie baskets.  She charges $5 for the basket plus $2 per cookie.  If one filled basket sells for $31, how many cookies are in it?

A.  13


B.  15


C.  18


D.  20

12.  Victor bought a computer for $1,800.  He made a down payment of $200 and will pay the rest in 5 equal payments.  If p represents the amount of each payment, which equation can be used to find this amount?


A.  $200p = $1,800


B.  $1,800 + 5p = $200


C.  $1,800 + $200 = 5p

D.  $1,800 = 5p + $200

13.   What is the solution to 6 – 2x < 18?


A.  x > -12


B.  x > -6


C.  x < -6


D.  x < 12

14.  What is the solution to 5(2x – 4) = 7x + 10?


A.  -6


B.  
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            C.  7


D.  10

SOL Mini-Challenge—Lesson 5


Equations and Inequalities

    
A.1, A.3
Read and solve.

1.  Which property justifies the statement  “If 3a + 3b = 12, then 3(a + b) = 12” ?


A.  Commutative property of multiplication


B.  Distributive property for multiplication over addition


C.  Multiplicative identity property


D.  Associative property of addition

2.  Which is a solution to (2x + 3) = 25?


F.  -4


G.  -2


H.  2


J.   11

3. Kristy is making a rectangular quilt that is 2 feet longer than it is wide.  If the perimeter of the quilt is to be 32 feet, what will be its dimensions?


A.  4 ft by 8 ft


B.  5 ft by 7 ft


C.  7 ft by 9 ft


D.  15 ft by 17 ft

4.  What is the solution to 2x + 3 > x – 5 ?


F.  x    >      -8  



                    3


G.  x  >  -8


H.  x  >     - 2  


                               3


J.  x  >  -2

5.  What is the value of x if -3x – 4 = 4x + 10?


A.  2


B.  
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C.  -2


D.  -14

SOL Mini-Challenge—Lesson 5 continued
6. What is the solution to -2x + 6 > 3x – 4 ?


F.   x  >  -2


G.  x  >  2


H.  x  <  -2


J.   x  <   2

7.  What is the solution to 2(-3x + 4) = 4(-2x + 6)?


A.  -8


B.  -1


C.   1


D.   8

8.  What is the solution to 2(4 – x) > 5x + 8?


F.  x < -8


G.  x < 0


H.  x > 0


J.   x > 8

9.  Which statement is always true?


A.  4 + a = 4 x a


B.  a + (-4 + 4) = a + 0


C.  a 
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a


D.   4 – a  = a – 4 

10.  If A < B, which of the following statements cannot be true?


F.  A + C < B + C


G.  A – C < B – C 


H.  AC < BC


J.   –A < -B
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